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S.S.L.C Examination March 2013

M athematics

1) 11,x,19
X-11 =19-x
X+X =19+11
2x =30
X =15
11, 15,19, 23
Or

a,b,c agyamlau 80) UM CUEMTW)eS )SB2WIW MAN” IB6EBU3 ERWIM

_a+c 11+19 _30
b = —— molmowt X=T=E=15

2

@O 1MOM3 aldearud = 11, 15, 19, 23

$)07a” (n1ROMIOEM 100G MUa0dWe MAPO® 60) )51 W}E®] allad @I @0
901N 2" 1B0] DODRe HEMEOMIWOIM @)P)AUM BB B9 Jo M@EHEB@IM” (2)

2) p(x) = 3x>-2x*+kx-6
P(x)a caise@oem” (x-2) @p@Imomd p(2)=0
3(2)*-2(2)*+k(2)-6=0
24-8+2k-6=0
2k = -24+8+6 = -10

K=-5 (2)
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3)

(0,4)B 1
4units
x 0| 4 units A( 4,0 =
v
OA =4 w)em’lg”

OA =0B = 4 w)em’lg” (nwaoy enil@ialled mlam)8s amis)aiesud)
B w)es mu)als auosuy (0,4)

C @)es au)ale auosuy (4,4) (2)

1
4) a) ®0)om 2YOOIBHBIOS af)sRe = 18X§ =0 (1)

b) equsom 2yom)&:8)165 ageye = 18-6 =12 (1)

1
C) X OISO 2)OD)H03 DM H0)OM DO B1FOMYBS AVIW O 2

o = —
@RQYe af)n” B b Sr %" 2
18+x =24

X=6 (1)

1
6 68T 2YOD)HU3 DFOM HOYOH DYOD) £ 1S0MIBS TUOW §© 2 T
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W)B®1 21100 OO0 DalCWIN )" VO0] DTMEE BHENBOD IWOM M)P)AUMS @OA &6 Jo
DTICH6NB@6N”

5)
®) B0 o (Kg) ag)6IRe 1_a”@OW yo @)1
20-30 16 25 400
30-40 21 35 735
40-50 28 45 1260
50-60 24 55 1320
60-70 11 65 715
100 4430
4430
o = ——=44.30
el 100 a)
6)
A
E B
D
C

<A =% (atdai DC )65 Gm(BeH:06mM , <B =% (a1ale DE @)6s Ge(me:6m )
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<C =% (anaw AE @)es GH(BEBeM ), <D= (aale AB @)61S Gor(MBEHI6M )

<E =% (atale BC )65 GHH(BEH63 )

<A+<B+<C+<D+<E = % X 360 = 180° (3)
@Toa%aaﬂms

D Q R

X C

180-x
180\x 180-x

A B

P 5

261 al®)de)=0 APQR @3 <D="x’ epwoct <APQ=180-x. <APQ,<SPQ
oM coalweeisle:wd ERW®IMmIms <SPQ = X’ al(&:’ @ 21®)3e)=e PQRS
@3 <QRS=180-x. <QRS,CRS ogyamu coalwesRs1s:ud erw®lmoad <CRS='X’
2l(&1 al®)de)=0 RCBS @3 <CBS= ‘180-x’

<D+<B = x+180-x = 180°

af) @18 10 lBaUBCH:I6MN )03 BRM)n1}0H6EB03 ERW®IMoed ABCD
80) all&1© 21M)3R)R0 @RYEM” (3)
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7)

g (-:,0) Sl
y

a) (2,0) apam enilm)asllenes &sam) Galddlgy (1)

b) APRC wled mlam)e PR=VE -4 =\/25-16=1/9=3 em) Ganee: AQRC

@l@d mlanje QR=3. @@ MG QI @ GREUOOD LMW

enilz) 90 63 (-1,0) ,(5,0) (2)
8)
A
70™
55
C
PK70

3517p
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< C=40°

PA =PB (en0ao enil@)afled m1iam)8s 6®3s)0los:u)
AABC @@ mlanye <CBA=<CAB = 70°

<P=70° (mvlevonmam)avelay’)

PA=PB (@am1elsee yam))

APAB @@ mlanye <PAB=<PBA = 55° (3)

9)  naB@EBE)es @) = 5n°+2n
1 agomlend o) = 5(1)*+2(1)=7

2 0 IGEBBB)OS @) = 5(2)%+2(2)=24

a) 2 aiBamE)es s = 5(2)°+2(2)=24 (1%)
b) @B oo™ cene) aBemswd =7,17 (12%)
10)
P
x+6
Q X B
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losn! QUEBE1M 8’ ‘X’ @RI BGQ alwvo ' X+6’
1
?(x)(x + 6) = 36

x> +6x =72
X° +6X+9 = 7249
(x+3)* =81
(x+3) =+/81=429

X+3=9 enwimd x=9-3=6
X+ 3=-9 epwomd x=-9-3=-12

QUUDEBBU3 M §)MNU06L Y @& @ 1MIME Bl QdEBWd = 6cm ,12cm (3)
11)

C

45
4em
D
45 45
A 4cm o
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AABCwera! @#06m )dnud 450,450,900@9«»@']m:><o'8 Qwoseud 1:1: \/E

AT @RowEnIWElensm” @e@lmocs BC=4cm, AC=4+/2 cm.

a2

D, AC w)es awjmilm)nnem” @ealmocd AD = — - 22 .

M2a DA I @ ]ELeM O 1 B30) CH6MTa MUBERIRT @13 AKEED MUREIUe
eal@)aM) @@ 1moe3 AABD @lees! e#06m)eud 45°,45°,90°

@R MG BD= 2\/2

BC=4cm , AC = 4~/2 cm, BD= 2/2cm (3)
12)
a=e=12cm
C
12 12
L
A & D 6 B
CD =+/122 - 62 = /14436 = /108 = 6+/3cm
1

a) 8e) andMPELOD IO aldgjBal = §X12X6\/§ =36v/3 cm? (1)
b) oal@al aloesal’ = ax36v3 + 144 = 1443 + 144 cm? (2)
C) moel’ mseEEBIM)e (1)
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13) a) X, = nd+(f-d) =3n-2
b) 100-1=99.
3 ead »)eml@m0em” 99 @R®IMI@ 99 clwemIwleal ai3moem”

C) 80) MEOMO CLMIWleal PR ai36EBRUd IS8 Qly® oMo
600U @ Prvemlend v iemlemacem” .
(3n-2)* - (3n-2) = 3(3n>-5n+2) @e®mo@s (3n-2)’ - (3n-2) @ 3 aad

n)emIomem” @p@lmoas (3n-2)° - (3n-2) agan@” eeemI@leal aidaoem” (2)

14) @M@ QO (Uoe” ERRe GRSEOANS)®)E: (4)

15)
a) p(x) = 6x°+3x*
p(-1) = 6(-1)*+3(-1)> = -6+3 = -3
p(-1)#0 @e@lmomd p(x)m caiseagy (x+1) (1)
b) aamo £,{®@1 enia0)aido (aXx+b) agyamn” B0y 8
p(x) = 6x°+3x*+ax+b

p(1)=0 o®1@d mIm)e a+b=-9 (1)

p(-1)=0 o®1@é mlan)e -a+b=3 (2)
(1), (2) agomIu@1@d mlanye a=-6,b =-3
BaNo & @1 6Nia0)alBe = -6X-3 (3)

Or
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a) q(a) =k (1)

b) q(x)+r(x) apan enino) aiBeE® (X-3) 6E:06me” 00012 0@ Wlaye q(a)+r(a)
q(a) =k, r(a) = -k agamiu@i@d mlanye q(a)+r(a) =k-k =0
wlaye 0 @@ 1Mo q(x)+r(x) e eaise:acem” (x-a) (3)

16)

X 200 400 600 800 1000 1200

y 8 20 41 71 94 100

y asler 30 w)syemioud X afler 200 #,)s)am)

200
y afler 1 &)s)6mu0ud X ailel 3p #ISIAM)

200
y ailes 9 #)s)emnud X  aflel EX9 =60 &,)s30m)

ow 2o =600 + 60 = 660 (4)

17)

dc

A Scm

5cm misanye 5cm aflolw)e 988 aimyee ABCD (1)
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2100 1m” @8]y alogjsal’ 988 Muaai®ee BPQR (2%)

amuaai@ee BPQR o3 afle:3smeo(BQ)ato 6 )& BRagan mige R m51 auea)” RS

@RSWIBASIO®)H QS IRl 38 BQS quo ai@)eomIm” @)y aleqsal”

088 MR IOABUD @ 1CH:6mM@6M”. (1%)
1
18) ) muoauy='X' ERWOM Ay EleEe =
x 1_ 253
—_t = —
X x 124
12x*-25x+12 =0
4 3
X=3 @Rem; 103 X = n
4 3
Moay= "5 @RYQOM ()@ HRo = 1
3 4
(To6Ly= @RYWIM (L)@ HHRo =3 (3)

b) X’ @0} @RW] (MUoELI} @DEM” ag)aN) BHOYM)E agwsl@s (x-1)*20
x*-2x+1 20
) Ao 2X &)glwomd X2 +1 2 2x

00) Awo)e ‘X 6OB:06Me" a0® 12 jomd

x> +1 2X
>

X 2

x+£22
X

@1 mlan)e K’ B3o) @RW] (MUo6L} ERWIM M6 JW)ESW)e @R 1603
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Q1Y) @B H2OD MR )e @) af)QPW CaIP)e 2 @RELIB 1M S} @RYEM ag)an”

06N, (2)

ce’roa%aaa’ko%

@reny1m” 8Qee” ceR0all a21QPM @R YW Blaimue = X .
. 1
@reml) 80) BlUTUe aE:06me” aal@)am e=Roell = ~

oM’ 8Qse” cRoall aa1QPM @RV YW Blalme = ‘X+6’

enoenl) 80) BlUMue eI’ fal@)an @Rl = —
X+6

1 1
—+

X X+6

_1
4

@AM’ 8Qee” el 6aIQRM @RS PO Blalmve =6

enoAImn” 8Qae” 6=Roall 621QPM @RI YW Blaumrve = 12
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19)

AABP @t mlmye cos 50° = %

0.64 ~
U710

AP=0.64x10=6.4cm

BC =2x6.4 =12.8cm

10
ACDA a3 mlan)e sin 50° = o

0.77 = 10
T oD
10
CD= -, =12.99 cm

Q@ AYOMo = 12.99 cm

@Taa%;ae:’]ms
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P
c 50 g PR ER—— ;
0
1.6m
A 70
9.2m
] 20
B G

AC aoclw)es p@eecm)e AB asglsomlend sweecmw)e PQ
saolem@)o V)allafloe Jan)

108
tan 20°= —=
BQ
108
- —%_3m
BA=13%

a5 Isom1ed mlan)o 30M @RH:ecIIem” saId

0_ _|R
tan 50 = 2

PR=1.19x30=35.7m

saolend oweo =10.8 +35.7 =46.5m
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20)

10

e

B

a) ayE® TR eHW)es OWre = J100-25=\75=5/3 cm
1
QUYED Rale®ias alyai'oe = 3 X7T X5 X5 x5~/3

1257 /3 |

= cm (2)

b)

ale200iw] aleilye)ss cnisomland @rre I’ #:0)®)e

AAOD,AABC agyanlcu ruByual @16E:06MeaBSs6M” .
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53 -

r
5 10

10r = 25v3-5¢
15r = 25V3
253 _ 53

15 3

r =

cm

5;/5Cm

ale2oiw] aellames enIsemlan @ree =

4 5V3 53 543
X X X

CIBOM 1O QlYdal’@e = X Tt

3 3 3 3
50073
= cm (3)
3
21) a)

v

a4 « A (5. 8)

7+

&4

5--

44

L B (3,2

27T -

.

> [s) 1 2 3 4 5 o

¥
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¥y
(0,8 gl A (5.8
7 b
64
5¢ Sunits ™
4e \\\
3 3
B (3,2 /
{ 0l2:] 2 A
1 4
* 3 1 > 3 2 5 o
y
oWero = 6 units
Y
(0,8 g A (5,9
7
6 g
5 6units \\\
4
2 B {32
4 c(8,2
(0,2 2 al Sunits ( )
1 - I
x o 1 2 3 P -
yl
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22) a)
4x-3y-10=0
4(4)-3(2)-10 = 16-6-10 =0
(4,2) oo aewlesl 8o) mileyanem”

-10
X =0 eopomd Y = 3

ov alewleal 26goe) snilsyansm” (0, _Tlo)

4
b) alew)es aielal” = 3

) 4x-3y+3=0
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